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p:l & T ¥ 93. 1 0.9 94. 2 6.1 91.1 1.4  111.5| A 3.5
2k kil ES 91.1 4.8 92.5 6.3 88. 1 1.5 89.6| A 4.8
o & B T ZE 85.0 2.9 83.9 1.9 94. 1 1.3 124.0] A 1.4
| R T 85. 9 3.1 84.3 3.2 83.9 7.6]  123.9 13.3
— & B& M T 3¢ 91.0 0.9 90. 8 0.6 96.2| A 0.6 115.1| A 8.3
ok K O T ¢ 96. 3 4.3 96.5 7.6  125.3 1.6|  126.7 11.2
5 @ {5 B M T ] 1580 14.6| 161.5| A 3.3] 108.7 13.3 80.3| A 12.0
EAEdh - TN A AT 95. 2 3.4 91.5 7.3 343.4 6.7|  349.0| A 28.3
ook B M T ] 106.6 4.2|  107.2| A 6.9 82. 2 3.9]  2925.8 5.5
Kow O M T 96. 3 7.5  107.8] A 0.1] 103.3 3.3 90.5| A 4.3
B¥E - bR T ¥ 75. 2 6. 1 74.7 5.2 82.4| A 0.8 131.1] A 0.3
1k ¥ T > 92.6| A 15.0 92.6| A 2.1 85.9] A 5.1 95. 8 1.6
77 AF vy Wan T 94.0 4.9 93.9 4.2 91.9 0.2 97.5| A 4.1
2OV AR O T T 90.3] A 1.0 94. 6 2.6 85.5| A 3.2| 106.2] A 9.0
ik HE ° ES 70. 2 5.2 81.8 8.9 86. 4 9.4  111.9 3.8
e IR e = R B 95.9 0.4  100.2 42.9 88.2| A 14.5 85.1| A 37.7
z o f T 3 96. 1 2.8 84.2 5.5 90. 4 3.8]  120.2] A 4.0
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p:l & T ¥ 83.2 4.2 83.7 4.7 92.9] A 1.9] 124.2| A 8.3
2k kil ES 79. 8 17.3 82.2 16.7 89. 6 2.4  103.3] A 8.3
o & B T E 77.0 5.4 77. 1 0.9 94. 1 1.8]  130.2 7.1
&/ R T 77.2 2.8 74.7 1.2 80.9| A 1.9 137.9 1.9
— & B& M T 3¢ 81.6 19.3 82.0 20.3| 101.4] A 6.6] 130.9] A 33.0
ok O O T 3¢ 87.2 13.7 88.2 14.1]  125.4 6.4  130.5 6. 1
T o 5 B M T ] 126.5 15.6]  122.6 22.6]  119.3 38.2 97.2| A 5.4
EAEdh - T N A AT 85.9] A 8.9 82.9] A 2.0 403.1 62.6] 446.8| A 4.6
ook B M T K 96. 5 2.9|  105.8] A 0.6 79.9 31.8|  243.7 18.6
Koow O M T 83.6 17.4 94. 0 1.9 104.7 3.2 102.7] A 26.2
B¥E - bR T ¥ 69. 8 2.4 71.4] A 1.7 82.4| A 6.9 131.6| A 2.7
s ¥ T > 85.7] A 8.6 82.7 A 8.6 89.6] A 7.8| 118.0] A 6.4
77 AF vy Wan T 83.8 3.2 82. 8 3.7 92.8| A 5.4 110.8] A 9.9
VT iR O T T 81.9| A 0.5 80.5 2.0 84.4| A 4.8 121.1| A 9.8
ik HE ° * 65. 2 2.7 76. 2 6. 4 92.2 0.4 124.6| A 5.2
S = I T (ol = N N 78.3] A 1.3 82.2 4.0 86.3| A 13.5 96.0| A 20.7
z o f T 3 88. 7 4.0 78. 1 1.2 92.3 2.1]  129.9] A 1.6
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